
Legacy Park

Sports Venues
Joseph A. Dyke Playground
South Trail Head
Amphitheater
Community Center
Early Education Center

68"112"

60"32"

18"
20"

13" 7 5/8"15"

2"

2"

2"

2"

2"

13"8"6"8"121"
156"

5" 104" 6"

10"

52"

28"

96"

3"

15"

20"
40" 14"

8"

5"6"

12"

21 1/4"21 1/4" 54 1/2"

12"
8"

2"

12" 32"

8"

8"

8"

8"

8"

8"

5"

6"

5"

4 1/4"

5" 5 3/4"

Notes

1 Fabricated aluminum header, painted with 
vinyl graphics.  Header occurs on both 
sides of posts but vinyl occurs only on 
front.  Sign is single faced.

1 Aluminum tube directional panels, painted 
with vinyl graphics on one side.  Only 
occurs in front view.

1 8" sq. aluminum tube post, fabricated 
aluminum cap has bevel profile.  Painted.

1 4" sq. aluminum tube post, flat cap with hole 
and welded nut at center for lifting eyes.  
Angled brackets welded at header and 
panel locations.  Painted.

1 1/4" aluminum plate, painted with vinyl 
graphics.  Mounted to masonry base.

1 Fabricated aluminum base cover, painted.

1 Formed concrete cap.

1 Stacked CMU block base with ashlar stone 
veneer to match other signs on site.

1 Concrete pad and footings, with 1/2" 
expansion joints, 1" above finished grade.

1

2

3

4

5

6
7
8

9

scale:  1/2" = 1'-0"B Elevation - Front View scale:  1/2" = 1'-0"C Elevations - End Views

scale:  1/2" = 1'-0"A Plan View

Legacy Park Wayfinding
Lee's Summit, MO

Wayfinding, Single Face, Non-Illuminated
Qty (6) Locations

2PRINTED: 9 2022

11/8/2021

1

SR MN JH

10339 6435

Paint background satin black.
Mask and paint graphics to match 
SW 6127 Ivoire, satin finsh.

Header Bar
Script MT Bold font, 
3M 7125-12 Black.  

One side only.

Directional Bar
Futura Cond.

Extra Bold font,
3M 7125-12 Black.

Left side Right side

No vinyl on 
back face.

For example only - see message layouts.

 1 1/18/2022 update colors, add text height dimensions

 2 2/1/2022 flip column to right side

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Legacy Park

Shelter 1, 2
Disc Golf Course
North Trail Head
Park Operations

Legacy Park

Shelter 1, 2
Disc Golf Course
North Trail Head
Park Operations
Sports Venues
Amphitheater

scale:  1/2" = 1'-0"A Messages - Sign 1A

Legacy Park Wayfinding
Lee's Summit, MO

Message Layouts
 1 12/10/2021 Flip 1B orientation

 2 1/18/2022 update colors

 3 2/1/2022 flip column to right side

 4 2/9/2022 message updates 2PRINTED: 9 2022

11/8/2021

1.a

SR MN JH

10339 6435

Blackwell Road - North Bound

scale:  1/2" = 1'-0"B Messages - Sign 1B
Blackwell Road - South Bound

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Legacy Park

Sports Venues
Shelter 1, 2
Disc Golf Course
Park Operations

Legacy Park

Sports Venues
Inclusive Playground
Community Center
Amphitheater

 1 12/10/2021 Flip 2B orientation

Legacy Park Wayfinding
Lee's Summit, MO

Wayfinding, Single Face, Non-Illuminated
Qty (6) Locations  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

1.b

SR MN JH

10339 6435

scale:  1/2" = 1'-0"A Messages - Sign 2A
Blackwell Road - North Bound

scale:  1/2" = 1'-0"B Messages - Sign 2B
Blackwell Road - South Bound

 2 1/18/2022 update colors

 3 2/1/2022 flip column to right side

 4 2/9/2022 message updates

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Legacy Park

Sports Venues
Inclusive Playground
South Trail Head
Amphitheater
Community Center

Legacy Park

Sports Venues
Inclusive Playground
South Trail Head
Amphitheater
Community Center

 x ___ /2021 ___

Legacy Park Wayfinding
Lee's Summit, MO

Wayfinding, Single Face, Non-Illuminated
Qty (6) Locations  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

1.c

SR MN JH

10339 6435

scale:  1/2" = 1'-0"A Messages - Sign 3A
Blackwell Road - North Bound

scale:  1/2" = 1'-0"B Messages - Sign 3B
Blackwell Road - South Bound

 1 12/10/2021 Flip 3B orientation

 2 1/18/2022 update colors

 3 2/1/2022 flip column to right side

 4 2/9/2022 message updates

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Legacy Park

0.300" ± clearance hole (16x)

0.150" ± thru hole (16x)

0.430" ± clearance hole (4x)

7/16" (0.438") clearance hole (4x)

0.430" ± thru hole (4x)

94238A103

8"
1/8"

10"
5"

5"

156"

5"

5"

15 1/2"3"11"3"

15 1/2" 3" 11" 3"

5"

5"

156"

10"
5"

5"

2 3/16"

R 5"

5"

2"
3"

22 1/2"3/4"9 1/2"3/4"47"3/4"9 1/2"3/4"

1 1/2"
7/16"

2"

5/8"

3"

6"

2 3/4"

scale:  1" = 1'-0"A Header Faces

scale:  1" = 1'-0"C Front View - Interior

scale:  1" = 1'-0"B Plan View - Assembly

scale:  3" = 1'-0"F End Filler Detail

Legacy Park Wayfinding
Lee's Summit, MO

Header Bar Details
(2) per sign  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

2

SR MN JH

10339 6435

18-8 Stainless Steel 
Nylon-Insert Flange 
Locknut, 3/8"-16.

1

1 9

8

10

2 14

7

22 2

2

7

7

6

6

5
5

3

4

1312 12

4

scale:  1:2E Screw Detail

Tamper-Resistant Torx Rounded 
Head Screws for Sheet Metal, 18-8 
Stainless Steel, #14 x 1-1/2".

95638A317

scale:  1:2D Bolt & Nut Detail

18-8 Stainless Steel 
Button Head Hex Drive 
Screw, 3/8"-16 x 3".

92949A636

Glue outer (front) face to frame 
with LORD adhesive.

Inside (back) face is attached 
with screws (#7).

Curved filler, tack weld to angles.  
Angles screw into frame.

Panel reinforcement, overlap 
joint with 1/8" bar.  Glue/tack 

weld/tape as needed.

C

Front (Outside)

Back (Inside)

Vinyl Graphics, see sheet 1

weld to 
tube

as spacer, 
between faces

center on holes. typ.

Notes

1 .080" aluminum sheet.

1 2x1x1/8" aluminum channel.

1 2x2x1/4" x 1" long aluminum 
structural angle.

1 2x2x1/8" aluminum rect. tube.

1 .063" aluminum sheet.

1 1x1x1/8" aluminum angle.

1 #8 x 3/4" 18-8 s.s. sheet metal 
screw.

1 3/8"-16 x 3" 18-8 s.s. button head 
hex drive screw.   
McM 92949A636.

1 3/8"-16 18-8 s.s. nylon insert 
flange locknut.   
McM 94238A103.

1 #14 x 1 1/2" 18-8 s.s. Pin-in-Torx 
round head sheet metal screw.   
McM 95638A317.

1 2" x 8" x 1/8" rectangular 
aluminum tube.  Radiused 
notches at bottom corners.

1 4x4x1/4" sq. aluminum tube.

1 8x8x3/16" sq. aluminum tube.

1 2x4x1/8" rect. aluminum tube.

1 1/4" aluminum plate.

1 3/8"-16 18-8 s.s. button head 
Pin-in-Torx machine screw.

1 3/8"-16 nutsert or similar.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

Paint all visible surfaces and 
hardware satin white.

8

10

9

see leg details

see leg details

There are two header bars, but message occurs on front only.

 2 2/1/2022 flip column to right side

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Sports Venues

0.150" ± drill one side (16x)

1 1/2"
7/16"

104"

8"
3 1/2"

3 1/2"

2"

4"

2"

19 1/2" 3/4" 5 1/2" 3/4" 51" 3/4" 5 1/2" 3/4" 19 1/2"

8"
3 1/2"

3 1/2"

5 7/16"

4 3/8"

5"

2"

Ø 4 1/4"

scale:  1" = 1'-0"A Directional Faces

scale:  1" = 1'-0"C Front View - Interior

scale:  1" = 1'-0"B Plan View - Assembly

scale:  1:2D Screw Detail

scale:  3" = 1'-0"D End Filler Detail

Legacy Park Wayfinding
Lee's Summit, MO

Directional Bar Details
(6) per sign  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

3

SR MN JH

10339 6435

Tamper-Resistant Torx Rounded 
Head Screws for Sheet Metal, 
18-8 Stainless Steel, #14 x 1-1/2".

7

7

6

5

5

11

95638A317

Curved filler, tack weld to angles.  
Angles screw into frame.

Front - message on front face only.

Back

Vinyl Graphics, see sheet 1

Notes

1 .080" aluminum sheet.

1 2x1x1/8" aluminum channel.

1 2x2x1/4" x 1" long aluminum 
structural angle.

1 2x2x1/8" aluminum rect. tube.

1 .063" aluminum sheet.

1 1x1x1/8" aluminum angle.

1 #8 x 3/4" 18-8 s.s. sheet metal 
screw.

1 3/8"-16 x 3" 18-8 s.s. button head 
hex drive screw.   
McM 92949A636.

1 3/8"-16 18-8 s.s. nylon insert 
flange locknut.   
McM 94238A103.

1 #14 x 1 1/2" 18-8 s.s. Pin-in-Torx 
round head sheet metal screw.   
McM 95638A317.

1 2" x 8" x 1/8" rectangular 
aluminum tube.  Radiused 
notches at bottom corners.

1 4x4x1/4" sq. aluminum tube.

1 8x8x3/16" sq. aluminum tube.

1 2x4x1/8" rect. aluminum tube.

1 1/4" aluminum plate.

1 3/8"-16 18-8 s.s. button head 
Pin-in-Torx machine screw.

1 3/8"-16 nutsert or similar.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

Paint all visible surfaces and 
hardware satin white.

10

1 3/4" long, typ.

12 see leg details10

3

C

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



SideSide View

Side View

Front
Side

Top

Front

3/4"
3/4"2"

10"

2"

2"

1/2"
1"

1"

1"
1/2"

1/2"

2"

1/2"

12"

6"

8"
4 1/8"

6 3/16"

8"

1/2"
3"
2"

10"

4"

6"

4"

6"

4"

6"

4"

6"

4"

6"

4"

4"
9 1/2"

3/4" 3/4"

5 1/2"3/4" 3/4"

2 3/16" 2" 4" 2" 2 3/16"

2"

4"

2"

2"

4 1/8"

4 1/8"
12"

6"

88" 120"

Ø 9/16"

3 7/16"

3 7/16"

scale:  3" = 1'-0"A Section - Header Bars at 4" Post

scale:  3" = 1'-0"B Section at Directional Bars

scale:  1" = 1'-0"C 4" Sq. Post scale:  3" = 1'-0"E Base Cover scale:  3" = 1'-0"F Post Cap

scale:  3" = 1'-0"D Bracket

Legacy Park Wayfinding
Lee's Summit, MO

4" Square Post Details
Qty (2) per sign  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

4

SR MN JH

10339 6435

3

14

3

12

2

7

1

3

3

10

10

14

12

12

3

10 (2) 5/16" holes

11

1

15

12

E

A

B
D

D

Notes

1 .080" aluminum sheet.

1 2x1x1/8" aluminum channel.

1 2x2x1/4" x 1" long aluminum 
structural angle.

1 2x2x1/8" aluminum rect. tube.

1 .063" aluminum sheet.

1 1x1x1/8" aluminum angle.

1 #8 x 3/4" 18-8 s.s. sheet metal 
screw.

1 3/8"-16 x 3" 18-8 s.s. button head 
hex drive screw.   
McM 92949A636.

1 3/8"-16 18-8 s.s. nylon insert 
flange locknut.   
McM 94238A103.

1 #14 x 1 1/2" 18-8 s.s. Pin-in-Torx 
round head sheet metal screw.   
McM 95638A317.

1 2" x 8" x 1/8" rectangular 
aluminum tube.  Radiused 
notches at bottom corners.

1 4x4x1/4" sq. aluminum tube.

1 8x8x3/16" sq. aluminum tube.

1 2x4x1/8" rect. aluminum tube.

1 1/4" aluminum plate.

1 3/8"-16 18-8 s.s. button head 
Pin-in-Torx machine screw.

1 3/8"-16 nutsert or similar.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

Paint all visible surfaces and 
hardware satin white.

Interior 1x1/8" backer bar, both 
side seams, glue to one half, drill 
other half for screw assembly.

Weld, typ.

Weld in post cap with nut, typ.

hole at center
for 1/2" lifting eye.

1/2"-13 
aluminum 
nut welded 
to back.

Direct bury in 
concrete footing.  
Adjust position in 
footing to level 
header when 8" 
posts are inserted 
in mounting plate 
sockets.

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



Side Front

Header Bar

Header Bar

2 1/8"
5"

8"

1 1/2"

1 1/2"

8"
5"

70 1/4" 60 3/4"

3"2 1/2" 2 1/2"

8"
5"

6 1/4"

4" 3"2 1/2" 2 1/2"

6 1/4"

Top

Section

5"
8"

5"8"

Ø 1/2"

4 1/2"

scale:  1" = 1'-0"C 8" Sq. Post

scale:  1" = 1'-0"A Section at Header Bar

scale:  1" = 1'-0"B Section at Mounting Plate scale:  1" = 1'-0"D Bevel Cap

13

1

1

3

17

13

17
16

15

Holes do not 
occur between 
the two sleeves.

Legacy Park Wayfinding
Lee's Summit, MO

8" Square Post Details
Qty (2) per sign  x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

5

SR MN JH

10339 6435

Notes

1 .080" aluminum sheet.

1 2x1x1/8" aluminum channel.

1 2x2x1/4" x 1" long aluminum 
structural angle.

1 2x2x1/8" aluminum rect. tube.

1 .063" aluminum sheet.

1 1x1x1/8" aluminum angle.

1 #8 x 3/4" 18-8 s.s. sheet metal 
screw.

1 3/8"-16 x 3" 18-8 s.s. button head 
hex drive screw.   
McM 92949A636.

1 3/8"-16 18-8 s.s. nylon insert 
flange locknut.   
McM 94238A103.

1 #14 x 1 1/2" 18-8 s.s. Pin-in-Torx 
round head sheet metal screw.   
McM 95638A317.

1 2" x 8" x 1/8" rectangular 
aluminum tube.  Radiused 
notches at bottom corners.

1 4x4x1/4" sq. aluminum tube.

1 8x8x3/16" sq. aluminum tube.

1 2x4x1/8" rect. aluminum tube.

1 1/4" aluminum plate.

1 3/8"-16 18-8 s.s. button head 
Pin-in-Torx machine screw.

1 3/8"-16 nutsert or similar.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

Paint all visible surfaces and 
hardware satin white.

9

13

84as spacer, 
between faces

A

B

D

D

Tack weld to top of tube. 

3" long, for 
lifting eye.

fabricated bevel cap.

notch bottom edge for drainage.

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



10
"

1'
-2

"
1'

-2
"

5'
-0

"

2'
-8

"

1'-8"1'-2" 1'-8" 1'-2"

15'-0"

8"1'-0"1'-11"1'-11"1'-0"1'-5"1'-5"

1'
-0

"
10

"

Tooled joints

Expansion joints

8"1'-4"8"

5'-8"

1'-2"3"1"1"3"1'-2"

5'
-0

"

5"1'-4" 1'-2"

2'
-8

"
1'

-2
"

1'
-2

"

5'-8"

1'-2" 8"
3"

1"
3"

3"1"
8 5/8" 9 3/4" 4 1/4" 9 3/4" 8 5/8"

14 1/8"

9 3/4"

14 1/8"

38"

41"

1 5/8" 8 3/4" 5 1/4" 8 3/4" 1 5/8"

8 1/4"

4 1/8"

8 3/4"

4 1/8"

17"

26"

6" 1" 1" 4"

7 3/4"

8 3/4"
2 7/8" 2 7/8"

3" 6 1/4" 6 1/4"

4 3/8"
8 1/4"

Ø 1/2" Ø 1/2"

Ø 1/2"

scale:  1/2" = 1'-0"B Stacked Reinforced Block - Plan View scale:  3/4" = 1'-0"D Concrete Cap - Top View

scale:  3/4" = 1'-0"C Aluminum Mounting Plate

scale:  1/2" = 1'-0"A Concrete Pad - Plan View

8"x16" CMU block core, typ.

reinforcement, typ.

3" thick ashlar ledge 
pattern rawhide stone 

veneer with 1" air gap, typ.

1/2" expansion joint with
filler and sealer.

1/4" plate sleeve, welded 
to mounting plate.

Fabricated sleeve, 1/4" plate 
welded to anchor plate.

1/4" anchor plate.

Holes do not occur 
between the two sleeves.

Drain holes at bottom of 
sleeve in side plate.

8" x 8" cavity for post

3" thick cast
concrete cap

Legacy Park Wayfinding
Lee's Summit, MO

Masonry Details
 x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

6

SR MN JH

10339 6435

Top

Front, Back Side, typ.

ID

Front

Sloped Left Side

Notes

1 .080" aluminum sheet.

1 2x1x1/8" aluminum channel.

1 2x2x1/4" x 1" long aluminum 
structural angle.

1 2x2x1/8" aluminum rect. tube.

1 .063" aluminum sheet.

1 1x1x1/8" aluminum angle.

1 #8 x 3/4" 18-8 s.s. sheet metal 
screw.

1 3/8"-16 x 3" 18-8 s.s. button head 
hex drive screw.   
McM 92949A636.

1 3/8"-16 18-8 s.s. nylon insert 
flange locknut.   
McM 94238A103.

1 #14 x 1 1/2" 18-8 s.s. Pin-in-Torx 
round head sheet metal screw.   
McM 95638A317.

1 2" x 8" x 1/8" rectangular 
aluminum tube.  Radiused 
notches at bottom corners.

1 4x4x1/4" sq. aluminum tube.

1 8x8x3/16" sq. aluminum tube.

1 2x4x1/8" rect. aluminum tube.

1 1/4" aluminum plate.

1 3/8"-16 18-8 s.s. button head 
Pin-in-Torx machine screw.

1 3/8"-16 nutsert or similar.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

Paint all visible surfaces and 
hardware satin white.

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



6"

8"
1'-2" JEJEJE EJEJ

EJ

(2) Header Panels.

(2) 4" X 4" x 1/4" aluminum tubes.

4" concrete base.
4" gravel base.

Reinforced 4K KCMMB concrete footing.

(2) 8" x 8" x 3/16" aluminum tubes.

Bevelled caps.

Notches at ends.  Ends are capped.

Lifting eye locations.

3" thick cast concrete cap.

Subbase

3'-4" 1'-10" 1'-0" 3'-10" 1'-0"

8'
-0

"

10
"

6"
4'

-5
"

2"
1'

-5
"

3'
-0

"

8"

8'-8" 5"1'-0"

1'-9"4'-6"4"1'-9"

5"
2"

, T
Y

P
.

4"

3'-5"

13'-0"

2"

120"

4"

scale:  1/2" = 1'-0"A Elevation - Back View

Legacy Park Wayfinding
Lee's Summit, MO

Masonry Details
 x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

7

SR MN JH

10339 6435

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING



2'-2"

2'
-1

"
3"

8"

8" 6" 8"

4"

6" 4"

1'-5"

2'
-1

"
3"

8"

8"

4"

1"

scale:  1" = 1'-0"B Masonry Column Section, Front View scale:  1" = 1'-0"B Masonry Column Section, Side View

1/4" aluminum anchor plate for post to 
be mortared to CMU w/ 3/8" l-bolt 
anchors (8" length).

Through wall flashing.

1" air gap between CMU block and 
stone veneer.

CMU core (grout solid & reinforce), typ.

Contractor to provide stone anchors 
spaced with CMU joints.

Weephole with through wall bottom 
flashing.

3/8" tamper resistant bolt - painted to 
match adjacent metal.

PCC pavement with expansion joint at 
footing.  Contractor to provide minimum 
slope of 1/4" per 1' to drain.

8" x 8" aluminum tubing

1/4" aluminum plaque painted with high 
performance black paint to match 
existing legacy park colors.

3/8" decorative anchor bolt attaching 
1/4" aluminum plaque to CMU core.

1/4" aluminum sleeve welded to 
aluminum anchor plate.

Expansion joint with filler and sealer.

3/8" stainless steel pin (6" long) and 
epoxy limestone cap to CMU core and 
Masterseal np-1 urethane sealant.

3" thick ashlar ledge pattern.  Rawhide 
stone veneer to match existing Legacy 
Park signage.

1/4" aluminum anchor plate for post 
to be mortared to CMU w/ 3/8" l-bolt 
anchors (8" length).

Through wall flashing.

1" air gap between CMU block and 
stone veneer.

CMU core (grout solid & reinforce), typ.

Contractor to provide stone anchors 
spaced with CMU joints.

Weephole with through wall bottom 
flashing.

3/8" tamper resistant decorative 
attachment bolt - painted to match

8" x 8" aluminum tubing

1/4" aluminum sleeve welded to 
aluminum anchor plate.

Expansion joint with filler and sealer.

3" cast stone cap.

3" thick ashlar ledge pattern.  
Rawhide stone veneer to match 
existing Legacy Park signage.

Legacy Park Wayfinding
Lee's Summit, MO

Masonry Details
 x ___ /2021 ___

2PRINTED: 9 2022

11/8/2021

8

SR MN JH

10339 6435

DO NOT SCALE DRAWING

DO NOT SCALE DRAWING


